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PART—I / ENGLISH

Directions : Answer the following 4. Christ reappeared in a child’s
questions (Q. Nos. 1 to 30) by selecting disguise in the Giant’s garden
the correct option from each. during the season of

1. The prize won by the protagonist
of the story, Engine Trouble proves
to be

(A) Spring

(B) Autumn

(A) a boon
(C) Winter
(B) an ordinary thing

(D) None of the above
(C) an expensive headache

(D) None of the above
5. Kalam decided to discover the

‘nature of India’s true self’ in

2. The crowd of refugees is described
as ‘horde’ at one point. The (A) nature
implication of the term ‘horde’ is

(B) scientific research
(A) sympathetic

C liti
(B) derogatory (C) politics

(C) eulogistic (D) children

(D) None of the above

6. The printed books were in use
during the childhood days of
3. Suresh killed the kid because Margie’s

(A) he did not like its company (A) grandfather

(B) it was hard to tame (B) grandfather’s father

(C) its good look was being admired
by people (C) grandfather’s grandfather

(D) None of the above (D) None of them



7. According to Khushwant Singh, his

8.

grandmother

(A) accepted her seclusion at old
age with resignation

(B) ceaselessly complained about
her secluded state of life

(C) made new friends with people
of her age to overcome her
loneliness

(D) None of the above

The refugees in Buck’s story had to
leave their land because of famine
caused by

(A) drought
(B) flood
(C) war

(D) None of the above

The narrator and Suresh met
a group of hermaphrodites. The term
‘hermaphrodite’ means

(A) persons or animals having
biological features of male sex
and behavioural tendencies of
female sex

(B) persons or animals having
biological features of female sex
and behavioural tendencies of
male sex

(C) persons or animals having

biological features of both male
and female sexes

(D) None of the above

10.

11.

12.

In the first phase of his career,
Kalam learnt the lesson of
leadership from

(A) Dr. Vikram Sarabhai, Professor
Satish Dhawan and Dr. Brahm

Prakash
(B) Dr. Vikram Sarabhai, Dr. W. W.
Dyer and Dr. Brahm Prakash
(C) Dr. Vikash Sarabhai, Dr. W. W.
Dyer and Dr. Brahm Prakash
(D) None of them

The rhyme scheme of the poem,
Loveliest of Trees is

(A) abab, bcbc, cdcd, efef
(B) abba, cddc, effe, ghhg
(C) aabb, ccdd, eeff, gghh
(D) None of the above

Stupidity Street condemns

(A) ravaging actions against nature

(B) participation in war

(C) misogyny

(D) None of the above

[ PTO



13.

14.

15.

The word nearest in meaning to
‘sprightly’ is

(A) ghostly
(B) brisk
(C) calmly

(D) None of the above

In Wander Thirst, the insatiable urge

for travelling is compared to

(A) ecstasy

(B) eternal longing for union with
God

(C) madness

(D) None of the above

“Slowly, silently, now the moon
Walks the night in her silver shoon;”

The figures of speech used in the
lines are

(A) alliteration, hyperbole,
personification and epigram

(B) alliteration, personification,
imagery and irony

(C) alliteration, personification,
imagery and metaphor

(D) None of the above

16.

17.

18.

Stopping by Woods on a Snowy
Evening can be interpreted as

(A) a contemplation on nature

(B) a contemplation on human life

(C) Both (A) and (B)

(D) None of the above

Ring Out, Wild Bells forms a part
of the longer poem, In Memorium
by Tennyson. It was written in
memory of

(A) Alfred Henry Hallam

(B) Arthur Henry Hallam

(C) Arthur Henry Hallman

(D) Arthur Henric Hallman

“Ring out the grief that the
mind.”

The right word to fill in the gap is

(A) sucks
(B) saps

(C) pricks
(D) shocks



19.

20.

21.

«©

. and freshening April showers of
early knowledge”

The figure of speech used here is

(A) metaphor
(B) simile
(C) imagery

(D) None of the above

The speaker in the poem, Gitanjali,
No. 50 has been the representative
of

(A) a man of mundane thoughts

(B) an inquisitive soul

(C) an utterly spiritual man

(D) None of them

You be careful what you’re saying.

The above sentence is an example of

(A) statement

(B) imperative sentence

(C) exclamatory sentence

(D) None of the above

22. The

23.

24.

parcel addressed to

Mr. Sen.

was

The above statement can be the
answer of the following question(s)

(A) Who was the parcel addressed

to?
(B) To whom was the parcel
addressed?
(C) Both (A) and (B)
(D) None of the above
Ours is house at farthest
corner.

To fill in the blanks the correct pair
of determiners is

(A) a and the
(B) the and the
(C) the and a

(D) None of the above

I'm not
Chinese history.

expert on

The complete sentence will be

(A) I'm not an expert on the Chinese
history.

(B) I'm not the expert on Chinese
history

(C) 'm not a expert on Chinese
history

(D) None of the above

[ PTO



25.

26.

27.

Which of the following is correct?
(A) The shop has been open a week.

(B) The shop has been opening
a week.

(C) The shop has opened last week.

(D) None of the above is correct

Consider the two

sentences :

following

(i) The number of letters we receive
is increasing.

(i) A large number of letters is
received.

In terms of subject-verb agreement
rules

(A) Only sentence (i) is correct

(B) Only sentence (ii) is correct

(C) Both (i) and (ii) are correct

(D) Both (i) and (ii) are incorrect

We saw Julia last summer, but we
haven’t seen her

The right word to fill in the gap is

(A) since
(B) after
(C) still

(D) None of the above

28.

29.

30.

I feel tired if I stay up, but I can’t
sleep if I go to bed.

Under  different categories  of

clauses, the above sentence has

(A) two main clauses and one sub-
clause only

(B) two main clauses, two sub-
clauses, two coordinate clauses

only

(C) two main clauses, two sub-
clauses, two finite clauses,
one infinite clause, and two

coordinate clauses only

(D) two main clauses, two sub-
clauses, two coordinate clauses,
and four finite clauses only

Which one of the
a correct sentence?

following is

(A) That’s mine—I saw it at first.
(B) That’s mine—I see it at first.
(C) That’s mine—I saw it first.

(D) None of the above

“Look! The path is slippery,” she
said.

The reported/indirect form of the
above sentence will be

(A) She said that the path is
slippery.

(B) She warned us that the path
was slippery.

(C) She exclaimed that the path
was slippery.

(D) None of the above



Directions Read the passage given
below and answer the questions (Q. Nos.
31 to 35) by choosing the correct option.

The true basis of education is the study of
the human mind, infant, adolescent and
adult. Any system of education founded
on theories of academic perfection, which
ignores the instrument of study, is more
likely to hamper and impair intellectual
growth than to produce a perfect and
perfectly equipped
educationist has to do, not with dead
material like the artist or sculptor, but
with an

mind. For the

infinitely subtle and sensitive
organism. He cannot shape an educational
masterpiece out of human wood or stone;
he has to work in the elusive substance of
mind and respect the limits imposed by the
fragile human body. There is no doubt that
the current educational system in Europe
is a great advance on many of the methods
but
palpable. It is based on an insufficient
knowledge of human psychology, and it
is only

of antiquity, its defects are also

safeguarded in Europe from
disastrous results by the refusal of the
ordinary student to subject himself to the
processes it involves, his habit of studying
only so much as he must to avoid
punishment or to pass an immediate test,
his resort to active habits and vigorous

physical exercise.

31. According to this passage, true

education aims at achieving
(A) academic perfection

(B) intellectual growth

(C) Both (A) and (B)

(D) None of the above

32.

33.

34.

35.

The author of the passage thinks
that study of human mind should be

(A) an aim of true education
(B) an instrument of true education

(C) an achievement of true

education
(D) None of the above
An educationist, according to the
author, is similar to
(A) a sculptor
(B) an artist
(C) Both (A) and (B)
(D) None of the above
The word opposite in meaning to
‘subtle’ is
(A) palpable
(B) elusive
(C) intellectual
(D) insufficient
The current educational system of
Europe
(A) follows the ancient methods

(B) has invented new, effective and
ideal methods

(C) puts emphasis
human mind

on study of

(D) None of the above
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Directions

PART—III / <i9—III
HISTORY / o2/

Answer the following

questions by selecting the correct option.

71.

72.

73.

The earliest literature of India is
(A) Upanishada
(B) Rig-Veda

(C) Matsya Purana

(D) None of the above

The Father of Indian Archaeology is

(A) Rakhaldas Bandyopadhyay

(B) Daya Ram Sahni

(C) Alexander Cunningham

(D) None of them

A dependable account of the History
of Kashmir is

(A) Kalhana’s Ragjatarangini

(B) Harishena’s Allahabad Prasasti

(C) Banabhatta’s Harshacharita

(D) None of the above
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74.

75.

76.

77.

The father of Mahavira was
(A) Vardhamana

(B) Siddhartha

(C) Suddhodana

(D) None of them

Gautama Buddha had attained the
Enlightenment under a tree named

(A) Neem
(B) Arjun
(C) Pipal

(D) None of the above

In the Sixth Century BC, North
India was divided into

(A) 12 Mahajanapadas
(B) 16 Mahajanapadas
(C) 18 Mahajanapadas

(D) None of the above

For the rise of Magadha, Ajatashatru
defeated a confederacy of

(A) 32 States
(B) 34 States
(C) 36 States

(D) None of the above
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78.

79.

80.

Asoka’s Dhamma was basically a

(A) social and ethical concept

(B) spiritual and religious concept

(C) concept of self-control

(D) None of the above

The Mehrauli Iron Pillar near Delhi
is an exquisite example of metal
carving of the

(A) Mauryas

(B) Guptas

(C) Pallavas

(D) None of the above

Kumaragupta I established

(A) Nalanda University

(B) Vikramashila University

(C) Takshashila University

(D) None of the above
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81.

82.

83.

84.

In the era of Alexander, the famous
University of India was

(A) Nalanda University
(B) Panchala University
(C) Takshashila University

(D) None of the above

How many styles of architecture
were there during the period of
the Pallavas?

(A) 2

(B) 3

(C) 4

(D) None of the above

Who won the First Battle of Tarain
(1191)?

(A) Muhammad Ghori
(B) Malik Zia-ud-din
(C) Prithviraj Chauhan

(D) None of them

Muhammad Ghori assigned the
region of his Indian possession to

(A) Qutb-ud-din Aibak
(B) Itutmish
(C) Balban

(D) None of them
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85.

86.

87.

88.

The Iqta system was introduced by
(A) Balban

(B) Itutmish

(C) Ala-ud-din

(D) None of them

Razia Sultana, the first woman ruler
of India belonged to the

(A) Slave Dynasty
(B) Khalji Dynasty
(C) Lodi Dynasty

(D) None of the above

The Persian etiquette “Paibas’ and
‘Sijda’ was introduced by

(A) Kublai Khan
(B) Jalal-ud-din
(C) Balban

(D) None of them

Who composed Doha ?
(A) Nanak

(B) Kabir

(C) Namadeva

(D) None of them
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89.

90.

91.

92.

Sufi sect was developed in
(A) Sikhism

(B) Hinduism

(C) Islam

(D) None of the above

Who  constructed the famous

Alai Darwaza?

(A) Balban

(B) Ala-ud-din

(C) Jalal-ud-din

(D) None of them

Sikandar Shah, the Sultan of Bengal
built

(A) Lal Mosque
(B) Jami Mosque
(C) Adina Mosque

(D) None of the above

The official language in the era of
Delhi Sultanate was

(A) Urdu
(B) Arabic
(C) Persian

(D) None of the above
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93. Between whom did the Battle of
Kanauj (1540) in Bilgram take
place?

94,

95.

(A)

(B)

(C)

(D)

Between Sher Shah and
Bahadur Shah

Between Humayun and Sher
Shah

Between Sher Shah and
Sikandar Shah

None of them

How many ‘Sarais’ were there on
the roadside in the Sher Shah’s
Empire ?

(A)

(B)

(C)

(D)

1600

1700

1800

None of the above

Aurangzeb was the murderer of

(A)

(B)

(C)

(D)

Sikhguru Arjan Singh

Sikhguru Tegh Bahadur

Sikhguru Gobind Singh

None of them
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96.

97.

98.

99.

In which style, ‘Buland Darwaza’ is
built?

(A) Iranian
(B) Indian
(C) Gujarati

(D) None of the above

The Battle of Plassey was won by
the English due to

(A) Valour of Clive
(B) Treachery of Mir Jafar
(C) Superiority of English troops

(D) None of the above

The Battle of Buxar was fought in
the year

(A) 1763
(B) 1764
(C) 1765

(D) None of the above

In 1765, Grant of the Diwani

established East India Company’s
rule in

(A) Bengal, Orissa and Delhi

(B) Bengal, Bihar and Delhi

(C) Bengal, Bihar and Orissa

(D) None of the above
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100. The Sunset Law is related with the

101.

102.

(A) Ryotwari Settlement

(B) Permanent Settlement

(C) Mahalwari Settlement

(D) None of the above

In the Ryotwari Settlement, revenue
was collected from the

(A) Zamindars

(B) Farmers

(C) Middlemen

(D) None of them

Ram Mohan established Atmiya
Sabha in the year

(A) 1815

(B) 1816

(C) 1817

(D) None of the above
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103.

104.

105.

106.

Who is the
Barnaparichay ?

author of

(A) Rabindranath
(B) Ram Mohan
(C) Vidyasagar

(D) None of them

Who wrote Bartaman Bharat ?
(A) Swami Dayananda

(B) Swami Vivekananda

(C) Swami Atmananda

(D) None of them

The Pioneer of the Two-Nation

Theory was

(A) Aga Khan

(B) Syed Ahmad Khan
(C) Abdul Rasul

(D) None of them

The number of delegates attended
in the First Session of Indian
National Congress was

(A) 52

(B) 62

(C) 72

(D) None of the above
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107.

108.

109.

110.

Who  organized the Swadeshi

Movement in Punjab?
(A) Lala Lajpat Rai
(B) Hardayal Singh
(C) Kartar Singh

(D) None of them

Who supported the Khilafat Issue
in India?

(A) Tilak
(B) Gandhiji
(C) Nehru

(D) None of them

How many Satyagrahis were there
in the famous ‘Dandi March’ with
Gandhiji on 12th March, 1930?

(A) 78
(B) 79
(C) 83

(D) None of the above

The World War I began in the year
(A) 1914
(B) 1916
(C) 1917

(D) None of the above
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PART—IV / w©l9—IV
GEOGRAPHY / gtslls1

Directions : Answer the following questions | i@ : 0% Teq BT T3 TMEa 2Mshr

by selecting the correct option. Teq wie |

111. The shape of the earth is as 111. "I@[%WW?@T
(A) satellite (A) TolEces el
(B) comet (B) NI WCol

(C) oblate spheroid (C) wIfears ToReen wCel

(D) None of the above (D) Tolcad @02 T

112. The equatorial diameter of the

carth 1 112. R e 1 7
(A) 1276 km (4) 12:76
(B) 12-71 km (B) 1271 5
(C) 1267 km (C) 12-67 ¥
(D) None of the above (D) TR PR T

113. The contiuous movement of e | 110, fre e T ol o oo
e S Sifecs 9o =

axis is called

(A) revolution (a) ARFate

(B) shadow circle (B) =®Ige

(C) rotation (C) wnfzwalfe

(D) None of the above (D) TR @FEve T
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114.

115.

116.

117.

The colourful lights
South Pole, is called

(A) Aurora australis
(B) Aurora borealis

(C) Summer solstice

(D) None of the above

The only great circle is
(A) central meridian
(B) prime meridian

(C) equator

(D) None of the above

The difference of antipodes is
(A) 90°

(B) 180°

(€) 0°

(D) None of the above

The name of the instrument that
helps in determining the source of

the earthquake is
(A) Barograph

(B) Seismograph
(C) Thermograph

(D) None of the above

is seen

in
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118.

119.

120.

121.

Sundarban, the largest delta in the
world has been formed near the
mouth of

(A) the Ganga and the
Brahmaputra

(B) the Ganga and the Teesta
(C) the Ganga and the Meghna

(D) None of the above

Plucking and abrasion are included
in the process of

(A) wind erosion
(B) karst erosion
(C) glacial erosion

(D) None of the above

Hydration is related with
(A) physical weathering
(B) chemical weathering
(C) biological weathering

(D) None of the above

Grand Canyon is located in
(A) the Colorado river
(B) the Nile river

(C) the Mississippi river

(D) None of the above

25

118.

119.

120.

121.

{9319 I2S I-171, WA SIS 2R
(A) o1 € FHECAA (AE

(B) =7 ¢ BRI (=R

(C) 9B S (TR (A=A

(D) TR (T2

Teelbel T @R oy (1 omafed Ao T@
29

(A) AR =
(B) JE =+
(C) fear= =

(D) T°[Caa (T2

G TS

(A) 2rFfos SR e
(B) TIPS SRR A
(C) Ctafs SIfaIcad e

(D) TR (LR AT

AT FR ST

(A) FCETRICT! TMICS
(B) el «icm
(C) PP Tmice

(D) TR (DR

[ PTO



122.

123.

124.

125.

‘Pediment’ is formed in the
(A) riverine lowland

(B) foothill of mountain in desert
region

(C) outwash plain region

(D) None of the above

The main element of the

atmosphere is

(A) oxygen

(B) nitrogen

(C) dust particles

(D) None of the above

The 40% of solar radiation, which
is reflected back into space, is called

(A) insolation
(B) albedo
(C) terrestrial heat balance

(D) None of the above

‘Sirocco’ is an important
(A) local wind

(B) periodical wind

(C) monsoon wind

(D) None of the above
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126.

127.

128.

129.

The convectional rainfall is widely
distributed in the

(A) equatorial region
(B) monsoon region
(C) steppe region

(D) None of the above

Labrador Current is a
(A) warm current

(B) cold current

(C) counter current

(D) None of the above

Tides are mainly caused by
(A) rotation of the earth

(B) gravitational pull

(C) Both (A) and (B) unitedly

(D) None of the above

The study of systematic
description of different components
of environment and interaction of
man with these components, is
known as

(A) biogeography

(B) environmental geography

(C) human geography

(D) None of the above
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130. Carbon dioxide and carbon | 130. FHE TIIFZT 8 FK AT T2
monoxide both are included in T& TR
(A) natural pollutants (A) W RIS
(B) anthropogenic pollutants (B) TS [{E
(C) gaseous air pollutants (C) me
(D) None of the above (D) o= @G o
131. The major 'causative factor(s) of | 131. TCTRE TR FHEA e gﬁw
landslides ‘1n the. Garhwal and oA T 2
Kumaun Himalyas is/are
(A) deforestation (A) BT =2efT
(B) unscientific farming (B) S i
(C) high intensity rainfall (C) e 9f2
(D) All of the above (D) To1ea T
132. The best iron ore is 132, STCHIFE TR AFRT 2
(A) magnetite (A) SISTCTBIRE
(B) haematite (B) (21525
(C) limonite (©) fercareri2b
(D) siderite (D) [RIAGIET
133. Ammonia is the by-product of 133. SOICAIE 251
(A) petroleum (A) CoGIferICT Somerensy
(B) coal (B) TR Toleeousy
(C) natural gas (C) AT SR ToETOu)
(D) None of the above (D) T4E @Fhe

/3 78



134.

135.

136.

137.

Which country of the world is first
in the production of solar energy?

(A) Japan
(B) Spain
(C) Germany

(D) China

In winter, which crop is cultivated
in monsoon climatic region?

(A) Kharif crop
(B) Rabi crop
(C) Plantation crop

(D) Commercial crop

Rubber cultivation is found in the
climatic region of

(A) Mediterranean
(B) Equatorial
(C) Monsoon

(D) None of the above

has the first position in
newsprint and paper production
in the world.
(A) Ontario
(B) Quebec
(C) Canada

(D) None of the above
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138.

139.

140.

141.

Which industry is known as

‘Sunrise industry’ ?
(A) Iron and Steel
(B) Petrochemical

(C) Jute

(D) None of the above

Which is not a factor of industrial
location?

(A) Market
(B) Capital
(C) Population density

(D) Power

In India,
obtained at

high quality mica is

(A) Jharkhand
(B) Hazaribagh plateau
(C) Nellore

(D) None of the above

Which highest plateau of the world
is situated in Asia?

(A) Tibet
(B) Anatolian
(C) Pamirs

(D) None of the above
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142,

143.

144.

In Asia, Siberian-type of climatic
region is situated from

(A) 35°-66° north latitude

(B) 40°-66°30” north latitude

(C) 40°-66° north latitude

(D) None of the above

An important river of north-western
India is the

(A) Subarnarekha

(B) Luni

(C) Sabarmati

(D) None of the above

Which is the largest river island in
the world lies in the Brahmaputra?

(A) Majuli

(B) Sundarban

(C) Minicoy

(D) None of the above
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145. Which one of the following is the | 145. e @@l <R W THl 4
step for conservation of forest in TR 2

India?

(A) FTICEICH

(A) Vanmahotsava

(B) Afforestation (B) 7%

(C) To stop overgrazing (C) =& “RybRe T2 QI

(D) All of the above (D) TolcE R

146. The river which is flowing along | 146. fg7F ¢ MR WWEeF TN W
the international boundary of I AN TG 2o

Bangladesh and Tripura is the

(A) Gomati (&) e

(B) Feni (B) c

(C) Muhuri (C) e

(D) None of the above (D) TR @FFbe T

147. In Tripura, Bodhjungnagar Growth | 147. %W QIS (N2 (U 39 @I

Centre is

(A) a commercial estate (A) W ﬁ%éjm
(B) an industrial estate (B) @ afepm

(C) an agricultural farm (C) IS 4=

(D) None of the above (D) To[ER (IR

/3 39



148.

149.

150.

Tokyo-Yokohama industrial region is
situated on the shores of the gulf of

(A) Honshu

(B) Yokohama

(C) Tokyo

(D) None of the above

The industry which has been
established by the Hindustan
Fertilizer Corporation in Haldia is

(A) insecticide factory

(B) fertilizer factory

(C) chemical fertilizer factory

(D) None of the above

Andaman is famous in

(A) sawmill industry

(B) timber industry

(C) wood cutting industry

(D) None of the above
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
faferiere fade=en SiceT Fea =g

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2Tl ziesm Teq 21 (@ bRl {55 (redl SIieR o (AF B wa TRt (e OMR Tsaeicg (redl el FIcEl 7D
T A T]efCe] FIce Fed e Tq0e 76d | 91 Taw e w11 2 ¢olee ©Iee S/ ARae w91 A Al |

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AFILET @FCTSIE2 OMR Tea7[@fb 1% FC3 =11 | OMR @R8I 71l 161 A1 47 (11 A =11 | A [P S1ew
(e FE TeReId 8 1 Sl =l S (e GRS e o

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE7[@ 3% 2P0 TIRICH P o] SReTge 0O 2 | (FICT SR (Y09 Ffb € *afosre @b 2el) OMR Ted7[@
S ZP7@ #I[C°H (TS A =11 |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

QPPN SHCHCEH #Mo-9 O OMR TEI7ad FIFE &R Aeo0as MFE fgererd fordee 2 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

RPN TG FIE G2 FCHI SRCTADBD PG BT STy (HICA] R T (T P&, 7107 S JUTETS TN, CI, (IR e,
TR (FICTRT 2B [Toi2 I #[R11 3081 /F0F 20 FA00 Wl 3 11 |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.

] 2CF1 TSGR TS (BN 2] (FCHR T0Cq Al -1HB ST FE Wi F1 203 2T R SR TG IS €
OOl SRCTADBD IS (FICS 0 ARCI |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTOR FAIRACETCTS 11 Tfelesba-ag [eem SeRfe 2ol « Rl [ 2ee OF T 2 #fR<é F90e = 1 |
Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

RIS BSOS (TS SHICHCS™ Nb- G2IR FF FACS 3¢, AR #FF] 2CE S TP 220TH 79 G3R Ao
TfefEcetea 995 OMR Yea7@ &l (TS| 9 |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SICGCTH M1b-« (B FIHA T GR PTG BATS GG -7 10 G-I Tl (763 8T (T~ ] 22 opial I
IR A1 | A I R SChee™ Mb-9 YEIR R 1 S ©cd fof Wi OMR T&97@ &l S+l ¢ 9197 203 93 O
wrfoe T f2oea @ 2 |

Use of any type of calculating device is prohibited.

@ (R R FAFCABES T2 el foifdm |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

[ 29 /FCFA 0 AN SABA @CET 7= ¢ il SRR bifeTe 203 | 7 4@es SEhe IR @CE RN ¢ e
S e 2 |

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I TREICSR 2PI7@ 993 OMR  TGRA[Cad (T S (R0l A1 S 511 A(C 1 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

*[ QI (7 2EAF 71T “RrFIA T2 O OMR TEa7[@ T SASIGCABCIT FICR S (7 | #FFIRTAT 2Pe1afb Siovd e
ferc e #Iea |
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